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QUESTION 1

For what mode must an interface be configured in order to run Auto-RP? 

A. sparse-dense 

B. full-mesh 

C. sparse 

D. dense 

Correct Answer: A 

 

QUESTION 2

What are three characteristics of RIPv1? (Choose three.) 

A. supports simple password authentication 

B. broadcasts messages between neighbors 

C. performsclassful routing 

D. includes prefix length in updates 

E. implements poison reverse 

Correct Answer: BCE 

 

QUESTION 3

Which internal boot device contains a backup copy of the JUNOS software? 

A. floppy drive 

B. PCMCIA flash 

C. internal flash drive 

D. hard drive 

Correct Answer: D 

 

QUESTION 4

What is the default route preference for directly connected routes? 

A. 1 
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B. 0 

C. 5 

D. 17 

Correct Answer: B 

 

QUESTION 5

In the following output from a show bgp summary command: Peer AS InPkt OutPkt OutQ Flaps Last Up/Down ????
192.168.16.1 65412 39 40 0 0 18:41 0/0/0 What do the last three numbers of 0/0/0 indicate? 

A. Established/Received/Damped 

B. Received/Active/Damped 

C. Established/Active/Received 

D. Active/Received/Damped 

Correct Answer: D 
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